B AZ / Components [ (x®&2 : TY-34)2008.02.08
4438 / External View No. %# / Part name ®E / Pcs ME / Material ' - XL / Color- Finish
1 by 7HN— / Top cover 1 ABSEtRE / ABS AJ{NT V- / White gray
2 |K7+«— / Base 1 ABSEtRE / ABS AJ4NT V- / White gray
3 |[AFvy b / Gasket 1 A Y703y / Polyurethane 73y / Black
R . L |7v # / Lafch 3 A3VbA / Stainless steel maLiE / Unfinished
. 5 |Bfit~—-ZAE2A(MS x 10) 6 7S =@ 70X~k
Screw(M5 - 10) Steel Trivalent chromate
6 |YMERERFT R 6 Sl L 38
Mounting brakef Stainless steel Unfinished
T |EmAAE A (MS x 10) 6 sk = {E70x-h
N e o Screw(M5 x 10) Steel Trivalent chromate
= = F7-_NWw7—4% / Technical Data
REZML / Protection class IP65
EARESERE / Operating temperature | -10C ~ +60C
WM 2 2 2/ Flammability class UL9LHB
730 188 2
662 .
626 38
156.5 156.5 1565 156.5
||—H H_H H_II EL nEll_Inﬂnunn |||||||||||||||||||||||||I||:InI:||'||||||||||||||||||||||||||||||||||I:II_InI%'||\_
| =
I < | -
- I -
A [l =
I E
1 N " N
_— S s i g
“ > H ol E
i = i o B
“ - H ol
______ Bk N A1 | — 660 © é
= B AN
6-M547%=ryh
6-M5 Insert nut A
L75 365
_‘jll
|
M| o
~ (o0}
[@))
N _ &% /Title R
6-M5475-hth BRAIMIDFERIE B5K - FFEERIBTNABST I Ky 7 A O L
6-M5 Insert nut ' TARACHIELECTRONICS ENCLOSURE Co. LTD. IP65 LATCH-HINGED ABS PLASTIC BOX
&I /Approved | R /Checked | #E/Created |E% /Product number RE/Scale‘m
. BCAP507018G :
PR #H o) 1/ 2
fER B /Date 2021/06/04




[(x®m&= : TY-34)2008.02.08

R / Internal View

"7 14— (HR) Hi—(RR)
Base (Internal View) Cover (Internal View)
130
— L1 s 1|
o o 3 o o ]
l\
~
oy oy q-
o #
M =
LN N N &
=] © © T
=0
K
s 0 o g % i
S ~ o
6-M54 5= Rk 6-M54%-~Fvh
6-M5S Insert nut 6-M5 Inserf nut
o)
O
I=
)
>
[gv]
>
~
_'jjg' T, A = B /Title N —
2 HARA S FBHIR BA - BEEBARABST oKy 72 | O O
4@: TAKACHI ELECTRONICS ENCLOSURE Co., LTD. |P65 LATCH‘HINGED ABS PLASTIC BOX
: &R /Approved | ¥ /Checked | #E/Created [&% /Product number R}%/Scale1.8
. BCAP507018G :
Gl L 2 > /5
fER B /Date  2021/06/04




	BCAP507018G Model (1).pdf
	BCAP507018G Model (2).pdf

